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[1]. (14%) Evaluate the following Iimits.
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[2]. (12%) State the Newton's method for approximating the zeros of a function.

[3]. (20%)} Evaluate the following integrals.
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[4. (12%) Find the srea of the region inside r = 2 (1+ cos ¢} and cutside r = 2ecosf.
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[5]. (14%) Find the interval of eonvergence for the power series }:‘ 5 (2z - 1)™

[6]. {12%) Evaluate the iterated integral by converting to polar coordinates.
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[7]. {16%) A ladder 20 meters long is leaning sgainst the wall {see figure). The base of the ladder is pulled
away from the wsll at a rate of 1 meter per second. (a) How fast is the top of the ladder moving down
the wall when its base is 12 meters from the wall? (b} Consider the triangle formed by the side of the
house, the ladder, and the ground. Find the rate at which the area of the triangle is changing when the
base of the ladder is 12 meters from the wall.
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